
Complète et calcule comme dans l’exemple.

7 + 11 = 11 + 7 = 18

6 + 13 = + =

4 + 25 = + =

9 + 30 = + =

2 + 14 = + =

6 + 21 = + =

8 + 11 = + =

5 + 14 = + =



Complète et calcule comme dans l’exemple.

7 + 11 = 11 + 7 = 18

4 + 23 = + =

1 + 12 = + =

9 + 10 = + =

2 + 36 = + =

8 + 41 = + =

6 + 53 = + =

3 + 16 = + =



Complète et calcule comme dans l’exemple.

7 + 11 = 11 + 7 = 18

5 + 14 = + =

7 + 22 = + =

4 + 32 = + =

6 + 41 = + =

4 + 35 = + =

5 + 40 = + =

1 + 28 = + =



Complète et calcule comme dans l’exemple.

7 + 11 = 11 + 7 = 18

2 + 64 = + =

4 + 72 = + =

5 + 50 = + =

1 + 86 = + =

3 + 45 = + =

6 + 12 = + =

8 + 21 = + =



Complète et calcule comme dans l’exemple.

7 + 11 = 11 + 7 = 18

2 + 25 = + =

3 + 34 = + =

1 + 94 = + =

7 + 12 = + =

9 + 30 = + =

4 + 24 = + =

8 + 51 = + =



Complète et calcule comme dans l’exemple.

7 + 11 = 11 + 7 = 18

5 + 12 = + =

9 + 80 = + =

6 + 12 = + =

9 + 50 = + =

1 + 86 = + =

8 + 31 = + =

2 + 47 = + =



Complète et calcule comme dans l’exemple.

7 + 11 = 11 + 7 = 18

7 + 22 = + =

3 + 53 = + =

7 + 41 = + =

6 + 13 = + =

8 + 20 = + =

4 + 11 = + =

5 + 22 = + =



Complète et calcule comme dans l’exemple.

7 + 11 = 11 + 7 = 18

9 + 30 = + =

5 + 41 = + =

1 + 56 = + =

4 + 33 = + =

6 + 80 = + =

5 + 92 = + =

3 + 74 = + =



Complète et calcule comme dans l’exemple.

7 + 11 = 11 + 7 = 18

2 + 14 = + =

7 + 32 = + =

3 + 15 = + =

1 + 24 = + =

4 + 32 = + =

8 + 50 = + =

9 + 60 = + =



Complète et calcule comme dans l’exemple.

7 + 11 = 11 + 7 = 18

8 + 51 = + =

9 + 40 = + =

7 + 32 = + =

1 + 88 = + =

5 + 64 = + =

6 + 72 = + =

2 + 85 = + =



Complète et calcule comme dans l’exemple.

7 + 11 = 11 + 7 = 18

5 + 14 = + =

3 + 31 = + =

4 + 82 = + =

6 + 34 = + =

4 + 23 = + =

5 + 61 = + =

8 + 80 = + =



Complète et calcule comme dans l’exemple.

7 + 11 = 11 + 7 = 18

3 + 64 = + =

6 + 82 = + =

2 + 67 = + =

7 + 52 = + =

4 + 30 = + =

8 + 81 = + =

1 + 96 = + =


